RER-ERR S REZEREH

ER29F1281H
ZERE A X 7K PN %€
1 == =% INFR INFR INGR
o — 2 A thH thH == =2
3 R R R EH R
— S 3th A
RSP | mE-EE | emm | GRELE) (FFI)
(B1H1100ET) s =5 A ek
S S
FEHR thEA &R i &R =2
P (BRI ERE) BRANE | RN
1;30;%4;3%%% fggézoo) =5 st HE & I;%%Efl !
FHRS 200~430 2R VT o\ S 28 PR R 2 == ERIR
WEFRJE 3:00~4:30 51,{_1'5 1%[‘&
R — g 1 ht ==} 3] tht FH Rt
= 2 HH i A= (EM@) HH i A=W/
F1REM INR#IR(E4) INRERE(E1) ZLIRED
2:00~5:00 A=W N FH A=W N
nER | PR i A
F 54K Rt Fh AT A e m Rt
2:30~3:30 EEAR EEKR UNRE-REESR) ! EEAK
AP 3 3
4:00~4:30 f];ﬁ*si%w:oo) BENR A RH BER A
. " 1 #|AR EH EH Fi 7N N
5 &F [ o ?%EH*% m B
o i — 1 HE HE INFR HE INFR
“ ]2 INFR NI NI K15 NI
KBE : RAR—V 4543k R—y g3
R F 2:0§~5:15(§H1:3o~ x—t—/J\J{l%;E
5:00)
RIE: )T FH % -
1;3(%~4:30(§1¢1;00~ ) @Z\E%EE
4:00)
[ ! F "I I\NKTF I\NKTF KT 1Ty §=2 IANKTF
F "I e+t =) 1 N EH
®ow FEFHNE
1 h > f =
2:00~5:00 il f2H
SRR FooR i A&
BEREERE F "I =2 NI R NI
e o L ke =3 e e
W*ﬁﬁﬁ. (EHEE?$1FI30$T) EE E)iliﬂgi :1% ﬁﬁi{% I*/%

XEBOREN GV ERIL, [Z41:8:30~11:30]). [E2%:9: 005 )IZHYET,




